Answer on Question#49297 — Chemistry, Physical Chemistry

The molarity of H2504 solution ,which has a density 1.84 g/cc at 35 Celsius and contain 98% by
weight is

(1)1.84

(2)18.4

(3)20.6

(4)24.5

All are in M(molarity)

Solution:
p= %; p - the density (g/L); m —the mass (g); V — the volume (L);

If V=1L, then m(solution)=1.84*103g (1.84 kg);

m
W= ——; m=Wmio;

m
tot

W — the mass fraction (%); m —the mass of H2S04 (g); mtwt — the mass of the total mixture (g);

m(H2504)=1803.2 g;
m
% =M; v - the mole (mol); M —the molar mass (g/mol);

M(H2504)=98 g/mol;

v (H2S04)=18.4 mol;
% .
C= V; C — the molarity (mol/L);

C(H2504)=18.4 mol/L;

Answer: (2)18.4
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